MATH 31AH, LINEAR ALGEBRA, EXAM 2
Friday, November 20th, 2015, 2-2:50pm, CSB 001

e Your Name: SOLU—HONS

e ID Number:

e Section (circle): A01 (2:00 PM) A02 (3:00 PM)




Problem 1. Consider the three vectors in R?® given below.
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(a) Show that {vi,vs,vs} is a basis for R®.

A=<\[ ‘V (b) Find the volume of the parallelepiped spanned by {vy,vs,v3}.
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Problem 2. Let V C R?* be the set of vectors perpendicular to both
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(a) Explain why V is a subspace of R%.
(b) Find a basis for V.
(¢) What is the dimension of V7 4’ l’
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Problem 3. Let A = (
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(a) Is A invertible? If so, find the inverse matrix A~1.

0
(b) Write (1) as a linear combination of the columns of A.
1

(¢) Compute the determinant of AAT.
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Problem 4. In R* we consider the three vectors below.
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(a) Are they linearly independent?
C Vaf (M eNeA)
(b) For which value of z does belong to span{vi,vs,v3)
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